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A game for two players.

One player, known as code-maker. The other player, known as cede-breaker.
The secret code consists of a series of symbols, which are chosen from 3 symbol
®, and ©. (The code-maker can repeatediy use the same symbol)
The code-breaker attempts to duplicate the exact symbols and positions of the
secret code.
The code-maker responds by using @, O and () .
@ indicates a correct symbol in the right position
(without indication of which symbol it corresponds to).
O indicates a correct symbol in the wreng position.
@ indicates a wrong symbol that does not appear in the secret code.
The player wins the game when he/she manage to guess all the symbols in the
code sequence and when they all in the right pesition.

Are you able to make use of the following guesses and responses to find out the secret code?
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“HOW TO SOLVE IT” BY G. POLYA
5= AR - SEEEE 3040 0101 JEIESE =14 - § (1, AR IS -




